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1} [25%] To each of the following incomplete sentence, select the most appropriate
word from the 4 words given below so that the selection will make each sentence
meaningful. [5 points each. Just select or circle the appropriate word. Don’t
rewrite the sentence. You will be deducted 2 points for each rewritten sentence. ]

A} The CEQO’s extreme

i) Faltacious

1i) Incompetence
1)  Metamorphosis
1v) Objection

led the company to financial ruin.

B} Overspending by the government led to ruin.
1) Fiscal
i) Unilateral
11}  Unconditional
iv) Maintained
C) i1s an illegal action.
1) Copy
1i) Retort
iii)  Plagiarism
1v)  Refutation
) The general’s gestures calmed the captives.
i) Magnanimous
ii) Intemperate
iii)  Malign

1v) Ignominious
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2)

E) Many leaders strive to be the of all that they view that is
good.
1) Meélange
i) Deign
i11)  Paragon
1v) Milicu

[25%] Answer the following questions in English.

The person who is truly effective has the humility and reverence to recognize his
own perceptual limitations and to appreciate the rich resources available through
interaction with the hearts and minds of other human beings. That person values the
differences because those differences add to his knowledge, to his understanding of
reality. When we're left to our own experiences, we constantly suffer from a
shortage of data. Is it logical that two people can disagree and that both can be ri ght?
It’s not logical: it’s psychological. And it’s very real. You see the young lady; I see
the old woman from the same picture. We see the same black lines and white spaces.
But we interpret them differently.

Using less than 50 words, please address why human perceptions
can differ so significantly, and comment on the above arguments.

3) [10%] St B H3a)FREER 3L

"We cannot know the duration of this war, but we are prepared for the
battle ahead," Bush told hundreds of troops and their families.

4) [15%] SCRBEEIE RFI4T o Sk

(a) We use a alternative method, it runs slightly slow but takes fewer
memory.

(b) My first visit to Boston will always be remembered by me.

(c) She only found two mistakes.
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5) [10% % — (HEFHE =R R B E S

() mediocre students

(A) excellent (B) diligent (C) ordinary (d) arrogant
(1) cause and effect

(A) change (B) reason (C) condition (D) consequence
(ni) adverse conditions

(A) acceptable (B) unfavorable (C) suitable (D) regretful
(tv) eligible bachelors

(A) handsome (B) qualified (C) engaged (d) educated
(v) portable computers

(A) easy to set up (B) automatic (C) capable of being carried (D) compatible

6) [15%) e FHUBR S » SRR E YR A 258

negligence property duration ignorance pretotype
population morale intuition moral diagonal
realty diagnose realist diagnosis reality

(i) A doctor cannot treat an illness until he has made a

(11) 1 doubted the of what he had seen; I though he must have dreamed it.
(iii) The of the team is low after its five consecutive defeats.

(iv) We hope the war will be of short

(v} The strange mechanical device is the of modern cars.




